dxf; 3af6 ;4 I;kifl/; ePsf lhinf+gu/ ;3x? tyf Pzf];Po6 ;b:ox?

ldItiR)&#+)&+1* blv 0)&$+10+1% ut];0d

afldtl c~rn aflx/sf Inlinf+gu/ ;3x?

q:;: lhinf+gu/ ; 3x? kl/df0f=sihl
kjférn If
1 ;b5 /L ;hrfbl Joj;fol ;3 141
2 I;/ixf ;4rfbl Joj;fol ;3 107
3 phok/ ;4rfol Joj;fol ;3 13
4 ;ke/L ;grfol pBffi Joj ;fol ;3 61
5 okfn ;orfol Joj;fol ;3 la/fégu/, dffe 40
6 dff2 ;yrfbl Joj;fol ;3, pnféf/L 49
7 gkfn ;brfbl Joj;fol ;3, efhk/ 7
8 cfyn9-f ;grfol Joj;fol ;3 2
9 okfn ;orfol Joj;fol ;3, erfkf, latf@ify 85
10 ;hrfol Joj;fol ;3, bds, eifkf 20
11 ;brfol Joj;fol ; 3, 0fifd 2
12 kjffrn ;yrfol Joj;fol ;3, 0fx/L 15
13 nfxfg ;yrfbl Joj;fol ;3 1
diiodf~rn If{
1 gkin ;grfbl Joj;fol ;3, Irtjg 172
2 dsjfgk/ ;grfol Joj;fol ;3, xpf@f 102
3 k;H{;yrfbl Joj;fol ;3 94
4 aft/f ;4rfbl Joy;fol ;3 90
5 /ffxt ;hrfol Joj;fol ;3 85
6 ;hrfol Joj;fol ;3, dnajf ;nffl 8
7 gkfn ;brfbl Joj;fol ;3, dxf/L 45
8 I;63hL ;4rfol Joj;fol ;3 20
9 okfn ;orfol Joj;fol ; 3, wglff 0
kIZrdf~rn Iff
1 DoflbL ;4rfbl Joj;fol ;3 15
2 gkfn ;brfbl Joj;fol ;3, afin™ 5
3 ulidL ;rfol Joj;fol ;3 21
4 c3fy/ftL ;hrfol Joj;fol ;3 23
5 slknj:t; tihxjf ;grfbl Joj;fol ;3 12
6 ;hrfol Joj;fol ; 3, sfisl 241
7 kjf ;orfbl Joj;fol ;3 13




8 ;hrfol Joj ;fol ; 3, :ofvhf 12
9 kftkf ;rfbl Joj;fol ;3 22
10 ?keokL ;4rfbl Joj;fol ;3 233
11 ndh® ;grfbl Joj;fol ;3 27
12 tox“; yrfbl Joy;fol ;3 102
13 ggnk/f;L ;grfol Joj;fol ;3 152
14 uffvf ;hrfol Joj;fol ;3 23
15 Jfofuaf ;Hrfol Joj;fol ;3, slknj:t)hitk/ 0
dlio-kIZrdf~rn Ifj
1 afs] ;yrfbl tyf uxgf Joj;fol ;3, sfink/ 47
2 gkinubk ;4rfbl Joj;fol ;3, afs] 37
3 bf&, th;Llk7 ;4rfol Joj;fol ;ldit 97
4 okfn ;brfbl Joj;fol ;3, bf®, 3ffixl 25
5 ;hrfol Joj;fol 33, ;VE 15
6 albf ;grfol Joj;fol ;3 23
7 gkfn ;brfbl Joj ;fol ;3, KoTfg 10
;b/-kIZrdf~rn Iy
1 s#gk/ ;grfol Joj;fol ;3 9
2 ;0rfol Jojg;fol ;3, shfnl 64
Total (A)= 2387 K.Q.
afldtl c~rn legsf IhNnf ;3x?
ldItlf)&#+)&+!* blv 0)&$+10+1% ut];Dd
Q- lhiinf ; 3x? kl/df0f=sihl
1 sfrdf8fl; yrivl Joj;fol ;3 1129
2 okfn ;brfbl Joj;fol ;3, sio| 0
3 nintk/ ;4rfbl Joj;fol ;3 377
4 etk/ ;yrfol Joj;fol ;3 201
5 gJfsfe ;grfol Joj;fol ;3 45
6 |;owkirf ;4rfbl Joj;fol ;3 34
7 gkin ;orfol Joj;fol ;3, sfe] 223
Total (B)= 2009 K.q.

dxf; % Pzfl;ot :b:o

dItiR)&#)a="* blv 0)8$=1=1% ut];0d




dxf; 3 cfad Pzf];Po6 ;b:ox?

896

Total (C) =

896 k.Q.

Grand Total (A+B+C)

5292 K.Q.




